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I 27 mwn: list of those who bring 79 n%Y 127p

a

The list: MY NYI2Y, MV NYIAY, PYTP TPn NRMV (1 RIPN), NTHY (20 DY) and Yy1xn (10 DY)
i wn77x those who, due to financial circumstances, may bring m5Ta (birds) and those who bring m>7 ’>7a ("nn)

1 mb57 09y and ynen
2 mb7 5T the four listed in 1 X3P (PYTPY VTP NRNIV, MTYN NP1V, NV NPIAY)

ii ~ ~777x some substitute 1::1, 2::2; 2::1; 1::2 = nmn is 1/10 of na>x for a nva (explained below)

1:1: n75v brings one bird for her lamb (as %)
2:2: ymxn brings two birds for 2 lambs (still brings lamb for nwx)
2:1: wTpn NRMV etc. — bring 2 birds for 1 lamb
1:2: w1pn nRMV etc. — bring 1 nmn for 2 birds (M>71 *972)
Explanation of conclusion (70179 for 79871 n2717wY): per RN»11 — if someone commiits to bring something worth a oo
to the nam — brings a lamb, as nothing else is brought that costs a y50;
(a) Source: v.1 —DWRis 2 py0 > wadis 1Yo (v. 2 — V2 the age=> V2 the price)
(b) And::x mwn (above) — proper price for 1p is ¥4 903 7277 (1/16 201 77)
(c) Assumption: if 97 pays 1/16 of 1wy, then m>7 '>7 must be 1/16 of 57 =3 mo1a (48 MoV is 1 o3 MW7)
(i) Challenge: the minimum for na’®n N1y should be 3 movma
(ii) Answer: Rin infers from N7y, who only brings 1 bird (24 mv19) divided by 16 = 1.5 mvna
1. Challenge: it should be 1.5 nmyonma
2. Answer: entire calculus inferred from n15v, who brings 1/32 (bird in place of lamb), m5T *57 should
be an additional 1/32 of m51 = .75 of a nv1a (but we don’t bring less than nv11a to nam)

O b= W N -

II 37 mwn: differences between nnaw and all other n»y — in consequences for both T and 129p (MW)

a
b
C

727/7. all n»IY — NRVN; NNAY — DYR
Type of animal: all m»y — female; Nnaw — male (ram)
General punishment: all other 1y, M/F are same (127 and man); nnaw — only man brings 121p, only nnaw gets man
i Source (for monplimited to her): v. 3 — n1pa alludes to man (various explanations) — only n'nn (she)
ii #7772 he brings 127p only when she gets man
1 Source (X27): sequence of v. 3 (mnn npa before 127p) > two are interdependent
2 propsoal: perhaps he is excluded from nn, but she must bring j127p along with getting man
3 rejection: DWR NR RaM — only he is liable
iii 7y’ "7 only liable if she was nYya beforehand — per naani, meaning “(physically) changed” — per vv. 4-5
1 Note (n”): v. 6 indicates that those offerings were for mx>a with mayn mnaw

d  Violations: all other m»y — nyn:: 0 and separate liability for each nx>2; ANaw — only nx>a 913 and 1 1297 for several mx’a

i Note: this is a R0 of "nNaw, making T equivalent to v

OI  n mwn: definition of nayIn Nnaw (v. 3)

a

b

a7 71 V2 tnaw V2 freewoman, per nnTa1 RY n7an (parallel: ¥ in Xn»13, per nnTo1 R n7an; he adds 2y 72y% noMrn)

Sxypw 71 full Nnaw (in XN»12 — NOMRN to an M1y Tay; NN RY 1797 is just usual rhetoric)

i Source (for 7712y 7295 NOIRY): MW RY 73 Dhe is free

»7anT. all other M"Yy are explicated; ours must be %2 nnaw, %2 p1in na

i y7an7in Xn71x same as ¥"; he was responding to YRynw> 7 — that usually DR 222 WY "N 1127, but here RS n7an
nnTa is extra (considering nwamn RY ») > teaches that she is ¥2 nnaw and %2 p1n na

it o208 (in ¥02273): 09 11 RY nwan > he is 210 72Y (since NN79) RY already addresses her status, n% 1% RY nwaIN 1Y)
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IV 1 mwn: singular characterstics of other m»y (in apposition to nnaw)
a  Minors: in other m»Y, if one m partner is a 1op, )7 is still liable (but jop exempt)
i Clarification: in n"v, if she is a nvp, he is also exempt (not that she is also liable)
1  Reason: they are compared to each other (for liability- v. 3)
b Asleep: in other n1y, if one partner is asleep, other is still liable (sleeper is exempt)
i Clarification: in n"v, if she is asleep, he is also exempt (not that she is also liable)
1 Reason: they are compared to each other (as above)
¢ Intent: in other m»y, if one partner is »w and other Tm, MW brings 127 and 1m does not
d  ANunbefore w7y “they equated npn::In; PIINN PR PIINN; NITTI RHV::NITTI; 11
i Reaction: if this is a reference to N9 N NNaw — why say that they equated nyn:: 01 — navIn Anaw is only nxva 931 17N
1 Additionally: without N3, 1w’ and 12772 XYW is not liable for nayIN MNaw (per v. 3 — Y71 N21OY)
2 And: if this is about other my, should have equated n1yn to A (not Nynd MNNM)
3 Question: Rin asked w™ if he should delete xn»12a
4 Defense (”): explain kn»11 as follows:
(@) They equated: N2773 ROW 1M in NAYIN NNAY (exempt) to N1 NIYN (exempt — per YIT NAIVY)
(b) And: they equated 3772 R5W 1201 in N (exempt) to 120N WK (in other Ny — exempt)
(c) And:awake n3775 R5W in n"v (exempt) to 1v?
(i) Summary: NIYM PIINN in N"WEPNN PR in other Ny
(ii) And: 13773 12w in all nyay
(iii) And: awake n3773 XYW in n"w::w in all vy
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